N & 0l & AF S & M M

20169 = S0la LB FESA
A 3E2SA
Hm: 210 M= F Do -BE 7
Celr MBAR A U MIALE BB (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
2SS4 5,244,380 4,722,935 521,445
2 19,433
< 31,249
Al 5,193,698
21C 8= x99 - FE 5,194,332 4,674,193 520,139
= 19,433
< 31,249
Al 5,143,650
FEAX ola & A= FEE0H 901,230 945,722 AN44,492
= 9,144
< 12,686
Al 879,400
dEstus 22l 272,564 432,593 A 160,029
201 et 82,004 98,707 A 16,703
01 At 22l 75,404 91,699 216,295
OF=2BusdyH 29 39,360
OZEUEFA A2FHI 15,360
- et 100,000& = 7oA « 128 8,400
-EU4 220,000& = 9CH = 20K 3,960
-—HEZAEH #HE 750,000& * 404 2 3,000
Ogxt=z 24,000
-SERuU=sdd 2,000,000& = 12& 24,000
OZ22R&d FBXNACUE 4,000
OZHM&HM ¢ ME 4,000,000& = 13l 4,000
OF=Estusul 2 10,000& * 1,500 15,000
OZE WY RAH| 220,000& * 123 2,640
OHESJWEE AZEYH P2 14,404
OMS-0ffice 2013 348,920 » 264 9,072
Ogt=2014 205,040& = 2604 5,332
02 =224l 6,600 7,008 A 408
OFZBusdH IS
550,000& * 12 + 128 6,600
301 YerB A 136,000 145,600 ~9,600
09 AL HIE &S 136,000 145,600 A 9,600
OZe Al HESE 2AsY
80,000& = 8H 200 128,000
O=2d FE3ug ZA=xE
80,000& = 2% = 50¢& 8,000
307 21201 A 9,360 12,000 A 2,640
05 BIZHRIE 3 9,360 12,000 A 2,640
OZE NI FAUAAY
780,000& = 12& 9,360
405 Xt&tE SHI 45,200 50,800 A5,600




A 3E2SA
M 21 = Lo - ¥
Helr E2AX ofia ¥ AZgsE FEL0 (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 et ESFH S 45,200 50,800 5,600
OL= ARI1J1 wH 45,200
Ol sz =H 1,400,000& * 26CH 36,400
oZgd 600,000& * 3CH 1,800
OHltlEZZ2HH 3,500,000& = 2CH 7,000
HES0ES T2 082X FE(EX) 32,972 27,432 5,540
= 9,144
< 5,486
Al 18,342
307 21201 A 32,972 27,432 5,540
2 9,144
< 5,486
Al 18,342
02 It S AIHE L 32,972 27,432 5,540
OFES0tE T2 22 =4 32,972
ool 13,716,000& = 204 Ot= 27,432
2 9,144
< 5,486
Al 12,802
OMZHI(EI=Z, 4HBEE)
2,770,000& = 204 OI= 5,540
FLs0ts 29 43 (AH) 5,400 5,400 0
301 et A3 5,400 5,400 0
09 #HALAHIZ &S 5,400 5,400 0
OZE0lEe Ws & dAEFA 04l
30,000 = 12% = 103 3,600
OZEz0tE AL FOHH|
600,000& = 30§ Ot2 * 13 1,800
2302 29 #43(2xX) 24,000 24,000 0
< 7,200
Al 16,800
307 21201 A 24,000 24,000 0
< 7,200
Al 16,800
02 YAFAAFEX 24,000 24,000 0
OZE=0ls 28 243t
8,000,000& = 304 0Ot= 24,000
< 7,200
Al 16,800
FEEAIAE 222 566,294 450,757 115,537
201 L2l 348,380 377,227 N 28,847
01 At 22l 1,200 74,092 AT2,892
OMUBEESNE LA
80,000& = 52 « 33 1,200




EX: AEsSA
MM 21 8=2 DO u-ExF F2&
Sl HEAX A U MEYE HBo CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
02 2224 H| 347,180 303, 135 44 045
OZIIEESHY AS35 BOotAIAE KX H| 15,984
oS3 2el AH 77,000& * 12&€ 924
OASstEotEH| (27CH) 1,255,000 = 12€ 15,060
OXs8 S22 ZHAAE RAE | 63,216
OEg HEEANAHE 571,000 = 128 6,852
OS2 AIAE 946,0008 ~ 12& 11,352
O[MHENZ X=EAAE 875,000& = 12& 10,500
OF*E2e|AlAE 929,000& * 12& 11,148
O& U XCHAI A& 877,000&  12€ 10,524
OSsEotaelAlAH 1,070,000&  12& 12,840
OUE<R3 ZoHAtLD HEZHl K XlIHI
449 0009 * 12€ 5,388
©ODDoS 2 AL X AlAE S X2 2H|
4,761,000 = 12&€ 57,132
OFAXE 2 otA S Xl 30,250& = 12&€ 363
OMHZ HloliAA 2OY01E SAH (14
2Ol & A) 355,630 * 60X 21,338
OPCE HiOIH A HOY0E XU (1Y 2t
ol A) 25,520 * 1,500% 38,280
osBotaels A0S |XH(1E 2tol
SHA) 864,600 * 11X 865
OMOIMBEESAIAE AH0E SXd (14
2Ol & A) 28,600 = 1,500% 42,900
OBt X 2elAlAE AH0E X (14
2Ol & A) 28,600 = 1,500% 42,900
OEEEotuSB& 2| Al A El S X2 4=H|
742,500 « 12€ 8,910
OAPCAHH KXl E==H| 92,0008 * 12& 1,104
O©LHPCXI 210l LOAH0IE SXH(1E 2ol A)
15,400& * 2,000% 30,800
OAMOIHAEGWM FAHXH Tz A DY 0IE
SXH (18 2tol&A) 18,000
OXBAA I &+ (Secui v1.5)
500,000 ~ 12€ 6,000
Od & & (WebScan v1.4)
1,000,000 * 12& 12,000
o 2 I ek H| 100,000 100,000
& AR EHH| 100,000 100,000
OB EBISHI 2 100,000,000& = 14 100,000
1 A L2 29,314 29,314
1 A&l 29,000 29,000
O A FHAIR A LS SOotAHl =IO XA 29,000
ot S 3t Y ot &Y 3,000,000 = 504 15,000
OX 22| Al AE 2,800,000& = 504 14,000

_3_




A 3E2SA
Ha: 210 @2 2 DO -BF P
el HEAX 4 U MRSE B CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
03 AlE 2 THHI 314 0 314
OFESUEOAIAE AR ALY
29,000,000& * 1.08% 314
405 XHobF S HI 88,600 73,530 15,070
01 AL EZFH S 88,600 73,530 15,070
OEAIAY =&Yl Wi 88,600
OKRHAOIE XHEHAIAE
74,000,000& * 14l 74,000
Ot 28 F=H
1,400,000 * 404 5,600
OE¢ot2tM4a Zef=Z2le 1,000,000& = 104 1,000
OZHMAIAE ZLIE (4021 X )
1,000,000& = 4CH 4,000
OFMAAEY DLIH 29 HEH
1,000,000& = 4CH 4,000
AHItss D5 FEMHA WS 2,182,437 1,893,187 289,250
= 10,289
Al 2,172,148
FEHLYR det2d 124,140 133,382 AQ,242
201 Let24d] 123,140 132,382 AQ,242
01 At 22l 123,140 132,382 AQ,242
OSH=HMI2EE 2 F3&E S/W 2LHI(48 35
0=) 70,000,000 = 14l 70,000
OZNHEERH FL(2HILANESR)
20,000,000& 14 20,000
OAdANEY &5 Z208 ¢
1,320,000 = 194 25,080
OgH Jtolict, AEA(Lictes SH&3AE)
50,000& * 504 2,500
OZegllH 2E9& JIAM 2 2,200
Ooget T2y &Y 220,000& = 504 1,100
OX&ds ZeHy & 220,000& =« 504 1,100
OZHZEH 2ZE JINM 7L 3,360
cd 500,000& = 14 500
O&EH 660,000& * 1K 660
OF MR (2E) 1,200,000& = 10 1,200
OEHAHIAE(2E) 1,000,000 * 1K 1,000
203 YR =&t 1,000 1,000 0
03 AIMF=XH R =AY 1,000 1,000 0
OFEMNHIA 243 2=2 1,000,000& 1,000
HEZIBAAE 29 2 |2 1,153,956 684,147 469,809
201 et 999,204 595,856 403,348
01 At 22l 10,000 10,000 0




AN BESAD
&

Ha: 210 @2 2 DO -BF P
el XSItss 188 F32BMHA M3 (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
orPC 1dlolE 100,000& * 50CH 5,000
OAMEEES PCLHFIl =&AL HI
100,000& * 50CH 5,000
02 =224l 989,204 585,856 403,348
OHEAMAIAEH F X2 809,050
OAMH(41TH) 19,168,000& * 12& 230,016
OMZEZXI(1500) 5,768,000& = 123 69,216
OJIEFE I (KYM,N/W, 2o &, et 170H)
5,073,000& = 12& 60,876
Oog2&sII(40h) 498,000& = 12& 5,976
ORFNMEAZX (5LH) 1,005,000& = 12& 12,060
Oos2gIZa )3 (318) 14,918,000& * 128 179,016
Ousdy #HCIAAE
6,648,000& » 12& 79,776
OHRXNAZE (2 ,ACE)
9,200,000& = 11& 101,200
OMZZS22AAE 1,800,008 * 122 21,600
OUAEE SHAAH
1,050,000& * 12& 12,600
OF Al HAM2elAlAE 400,000 * 63 2,400
OS/WE A 2 495,000& = 12& 5,940
OUHEHIISHEAIAE 444,000& « 123 5,328
O2LictAl A& 953,000& = 12& 11,436
OITAtARZE 2| Al A E 910,000& » 73 6,370
OZHIL AN B S S AIAE 568,000& = 53 2,840
(OFSPNECIRSI NS 400,000& =* 63l 2,400
OGPSEH DI MEZ 11,0003 = 4004 = 12& 5,280
OsUE=2=00l8AMHlA  550,000& * 14 550
OMeISHFE(1,56101) 12,689,000& = 128 152,268
O pSE=R=]=| 1,838,000& = 12& 22,056
403 XIS E X201 & 154,752 88,291 66,461
02 SO 2SS 2 X HEH At H 154,752 88,291 66,461
O=SJIgt HoEH KX 22l
108,916,000& * 13 108,916
O=SJIE Moll=+ KX 2l
15,687,000& 13 15,687
OME MHIA OA3 |X2eltl
7,000,000& = 13l 7,000
O2LtetAlA " S/W = Xl 22l
23,149,000 * 13l 23,149
N2RH23 2S0I8 AAg 715 5,113 5,401 £288
- 2,239
Al 2,874
201 L2l 5,113 5,401 A 288




210 @2 2 Do -8 78
XNEIisst 185 FEMHA M2 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 2,239
Al 2,874
01 AP 22| d| 5,113 5,401 A\ 288
OLZF&H DM L ABEASIAIY 2lA S
1,278,1308 * 43| 5,113
= 2,239
Al 2,874
A2 Ml 2HH 2SAL 35,428 35,428 0
2 8,050
Al 27,378
201 LBt 35,428 35,428 0
2 8,050
Al 27,378
01 AP 22| d| 35,428 35,428 0
OAZF MolERHH 2SAME 2lAS
8,857,000& = 43| 35,428
2 8,050
Al 27,378
HAEMAZH ESSAYF=X 810,000 620,000 190,000
405 XHAHF S HI 810,000 620,000 190,000
01 AL 2 ZF S H| 810,000 620,000 190,000
OSe AL 2H2e 350,000
OAECX 4 2 15
350,000,000& = 14l 350,000
OgRE MAZEH WA 410,000
OMels8HEH 1,400,000 * 250CH 350,000
[OES=15] 600,000& * 100CH 60,000
OR0ALZ]| MRAEY 50,000
ORooagz=7| 25,000,000& * 2CH 50,000
U-EF=328 d8 B35 AIEF&A 53,800 260,000 A 206,200
201 YEt2 | 16,800 0 16,800
01 AP 2t 2] H| 16,800 0 16,800
OFAXE 2EHAAE GPSEHL D)
280,000 = 60CH 16,800
207 I & 37,000 200,000 A 163,000
02 & AJH 2| 37,000 200,000 A 163,000
OZHILAEERAAE DT
17,000,000& = {14l 17,000
OFAXE ZHAAE DEF
20,000,000 = 14l 20,000
ol AESts EHOIKXN 29 461,797 311,126 150,671
HEA QEUANAE OGN 2Y 461,797 311,126 150,671
201 LBt Y| 433,647 283,476 150, 171




SA HESAD
M 21 832 2109 uv-EF ¥
Chel: A2 ASdl= SHOIX 29 (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 At 22l 18,810 40,960 AN 22,150
oY E HolZ & A2F 22 3,960,000 3,960
OAE /RIHUIY S Y 28 AZEYN 2L
14,850,000 » 14 14,850
02 =224l 414,837 242,516 172,321
OelHY Zmel&el SXdl 42,0008 * 458 1,890
OAMHMIA(SUE) 2E AEZ
2,000,000& = 14 2,000
O MIA(MERY HH) oS MBS
1,100,000& * 14 1,100
OZXHAIXIMBIA OlEZ
150,000& = 40 « 128 7,200
OAl EHOIX & SXE=H 189,803
OUE EHOIX 2 113
4,708,340 » 12& 56,501
OAMHAEHOIX 2 168
5,083,340& = 12& 61,001
OIS HOIX 198 2,516,670& = 123 30,201
O3 & SH=S 478 3,508,330 » 12& 42,100
O2HILHMHIA(TS) 1,235,270& » 12& 14,824
OZHOIX 2% AZENH XL =HI 72,818
OWUE ZHOIX dOolHBOIA 22 AZES
o (38) 1,200,000& * 128 14,400
OEZHOIX 29 A2ZEN(28)
600,000& = 12& 7,200
OEHOIX 2% 2ZEQ0N SHEZ(23)
296,000& » 8& 2,368
OZHtY EHOIX 2€ AZEH0(28)
183,340& » 128 2,201
OZHOIX Jtatst 28 AZEAN
866,670 » 12& 10,401
OZHOIKN dMEZH 291,670 = 12& 3,501
OMH EotZ 2z ) 90,000& = 12& 1,080
O8It 2ZEYV 130,000& * 12& 1,560
OEXHLEAMEIA AEZEYN
323,340& = 12& 3,881
OEHOIX AL ATEON(28)
518,420 = 12& 6,222
(OF=F=1= 202,950& * 12 2,436
OSEgEt&eANAY 22 ATEYNH(2T)
792,920& * 12 9,516
OEZHHAMAYE 2F AZEYV
671,000& = 12 8,052
OAZHOIX StEAN 29 |FAE=H 125,202
OWESHOIX AH
746,6703 * 200 « 12& 17,921




AN BESAD
M 21 832 2109 uv-EF ¥
Chel: A2 ASdl= SHOIX 29 (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OUWEZSHOIX AEeclXl 346,670 = 12& 4,161
OZHOIX Jtatst A 746,670 « 123 8,961
OZEHOIX Jtatst AELlX
400,000& = 12& 4,800
O=olel WY M (23) 200,0008 = 128 2,400
OEBOOK/EE N 22 MH 44,3704 ~ 123 533
OAr&2te] 29 MH 126,670& » 128 1,521
OouU s 2EAMAH 126,670& » 12& 1,521
OAt&l /I et Es AER|X
400,340& = 12& 4,805
OR2HlY EHOIX 2SMH(25)
80,000& » 12& 960
OEHOIX BHAAAE H2NH(2F)
46,680& = 12& 561
OUE SHOIX HAAAERE AEL X
533,340& = 12& 6,401
OMEZSHOIX HOIZ 2tolEeiel
116,8708 » 8& 935
OZHOoIX ABX M=+ AEClA
544,670& » 12& 6,537
OALZI/QIE SIgtE BHA A AR AEC[X]
166,670& » 12& 2,001
OAtZl/RIEH eSS HIOIZE 2tolE el
194,000& = 12& 2,328
OEMHOIX Bort&dl (g3t 9 78)
2,217, 750& = 12& 26,613
OEHOIX Z2ot&dl 2elMH(45)
349,000 » 12& 4,188
OS2 -2 HMAIAE 198,000& » 12&8 2,376
OFHEdHSE2E FHHI(28)
425,670& « 12& 5,109
OEZHAHAAE 154,000& * 12 1,848
OEHOX 29 UWEHIT HHl(H22r2AX
2 108) 1,560,090 * 12& 18,722
301 L2 AF 650 650 0
11IIEtEA S 650 650 0
OZMHOIXl AMBIENH Al&tZ3 650
Oo1s 200,000& » 1H 200
028 100,000& = 2% 200
OKIS] 50,000& = 5H 250
405 RHoHE S HI 27,500 27,000 500
01 XL 2 EF S| 27,500 27,000 500
OAHEI/RIHUIS S WA AR AELX 2
27,500,000& * 14l 27,500
HESH FESA MUHA &F HE 1,595,028 1,517,328 77,700




2N dE2SAD
HE: 21 8= 209 uv-EF P&
Sel BTN HBSM AMUA BF N3 (S &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
== 18,563
Al 1,576,465
HESAMAAE N 29 1,533,152 1,346,863 186,289
201 Bt A | 1,366,047 1,306,863 59, 184
01 At 22l bl 21,000 9,180 11,820
O#AdNG HSE M AH| 8,200
OMNOIE AR &
2,000& * 1,0000H = 23] 4,000
OFANEHHMSIHS R
700& * 3,0000H * 23] 4,200
oOsSHEZE RANELE A2 2¢ 10,000
OUTP AHIOI= 500& * 9,000m 4,500
o=t 2,500& * 1,000m 2,500
ORJ4SE = 500& * 2,000H 1,000
O5lBE(8LE) 20,000& * 100K 2,000
OMHAE M FAX A2 E R H| 2,800
OEUHIECIX 220,000& * 54 1,100
O&st&E 231D 30,000& * 504 1,500
O&3Il 0rolaz2 2 e A 1,000& = 2004 200
02 332494l 1,345,047 1,297,683 47,364
OFBESA HERA HH KX 224 150,792
O =EA2X(8L4) 3,846,000& = 12& 46,152
OLot=2AA X (8LH) 2,298,000& = 128 27,576
OL3A X (110CH) 4,887,000& = 128 58,644
OL2A 2 Xl (92CH) 1,535,000& ~ 12& 18,420
OXEZ2|AIAE EH S X244l 4,164
OXH& 22| A H 73,000& * 12& 876
OXH& 22| &d| (280H) 274,000 = 128 3,288
OFAZJAIAE X2 H|
444 000 * 12& 5,328
OLRYNMIAZZHX(20H) S X E 244
179,000& = 128 2,148
og2ssJ(20) | X & 44l
165,000& = 128 1,980
OPCIHU N WEAAE SXE2H| 15,954
OHMStWEAIAE 834,500& = 128 10,014
OEZ2E |IPELI|(5000H) 990,000& * 6& 5,940
OLINEZHEAAEY KX E2H|
182,960&  12&€ 2,196
O AAAE S X224
469,920€ ~ 12€ 5,640
OEi=F:zAIAE SXNE2H 139,330& * 6& 836
OHA KX 22| 47 ,780& = 1080H 5,161
(OFSEkIRTA= 321,648




fAE

M 21 = Lo - ¥
e AEFSY FESH NMHA 83 WS (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OQHY HF At 12,000,000 * 12& 144,000
OYerds(2lEY)
40,000 * 2203l & = 128 105,600
OFMeE &M (LIS
33,000& = 553 « 12& 21,780
OMHMlE Adds
17,000 » 173/ & » 12& 3,468
OS3g2XNd 0olsdst
100,000& = 9Of = 12& 10,800
O2UHAMHA Sefatel AIZZ2
3,000,000& * 12& 36,000
OdE3H MEE 829,200
O=U&Es3d 206,400
-datg 30,0003 = 340214 » 123 122,400
-DE0OXE 1,000,000& » 33/ » 123 36,000
-=JE0XNE
2,000,000& = 23l » 12& 48,000
O=)tEE2sdseY 616,800
—-65M 2,000,000& = 13l « 123 24,000
-30M 1,400,000 » 63/ & » 123 100,800
—-14M 850,000& = 23l& * 128 20,400
-5M 600,000& » 253 » 123 180,000
—4M 500,000& = 2032l « 123 120,000
-2M 300,000& = 453 » 12& 162,000
—-256K 200,000 * 43/ & » 12& 9,600
OBOAEE &3 500,000& = 13l& = 128 6,000
401 A& HIZ 2018 95,855 40,000 55,855
01 A& HI 95,000 40,000 55,000
OAMRA THHIXIN 2 FUHSAMLAZIAMN(2EH
NRERY 5,000,000& * 1094 2 50,000
OIASIoAAE S2O0IE
15,000,000& * 34! 45,000
03 AIE S THHI 855 0 855
OHESHAAE EXIAMH
95,000,000& * 0.90% 855
405 XHoHF S HI 71,250 0 71,250
01 AL EZFE 71,250 0 71,250
ORABMHEZZSEXI(UPS)
30,000,000& * 14l 30,000
OQUIER D PoEASIXI 5,850,000& = 5CH 29,250
OFAX 600,000& = 20CH 12,000
SENY ZUY SBY PEAY 61,876 115,465 53,589
< 18,563
Al 43,313




2N
X ZH -
L= B

el

= - 4 14
= A (B1H) - MEAY - ByS %Eﬁ HR=2
402 61,876 115,465 A 53,589
== 18,563
Al 43,313
02 61,876 115,465 A 53,589
S IFAMY
61,876,000 61,876
&< 18,563
Al 43,313
MO A S 53,840 6,830 47,010
2 53,840 5,900 47,940
201 6,680 3,740 2,940
01 A 2,600 1,700 900
ZH DFL4E
1,000,000& * 2% 2,000
300 « 10 » 2008 600
02 4,080 2,040 2,040
AU SX 4| 4,080,000 4,080
202 044 2,160 2,160 0
01 =2UH 2,160 2,160 0
S A AP E A}
20,000 * 3% x 32 x 128 2,160
405 KHoHFE S HI 45,000 0 45,000
01 Xt 45,000 0 45,000
SHBAISEEH WA 45,000
&I 2 3=
45,000,000 * 14! 45,000
o A& 50,048 48,742 1,306
34 50,048 48,742 1,306
=24 50,048 48,742 1,306
201 22,088 20,782 1,306
01 22,088 20,782 1,306
SZH (JI=ZH|)
11,000,000& 11,000
1) 11,088,000& 11,088
202 23,760 23,760 0
01 23,760 23,760 0
23,760,000 23,760
203 4,200 4,200 0
04 gl 4,200 4,200 0
3001 0| 6}) 350,000& * 12& 4,200




